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Fill in the blanks with the appropriate answer.

(Y41 +2
Quotient =

(i) 64 -4
Quotient =

(iii) 50 =7
Quotient =

(iv) 74 - 8
Quotient =

(v) 6+6
Quotient =

(vi) 91 =10
Quotient =

(vii) 69 +3
Quotient =

(viii) 57 +9
Quotient =

(ix) 121 =11
Quotient =

(x) 92 +8
Quotient =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

(xi) 78 +7
Quotient =

(xii) 263 =2
Quotient =

(xiii) 126 =5
Quotient =

(xiv) 31 +7
Quotient =

(xv) 964 =3
Quotient =

(xvi) 73 +4
Quotient =

(xvii) 123 +6
Quotient =

(xviii) 68 ~ 8
Quotient =

(xix) 97 =5
Quotient =

(xx) 845 =2
Quotient =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =

Remainder =
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(i)41+2
Quotient =20

(ii) 64+ 4
Quotient=16

(iii) 50+ 7
Quotient=7

(iv) 74+ 8
Quotient=9

(v) 6+6
Quotient=1

(vi) 91 +10
Quotient=9

(vii) 69+ 3
Quotient =23

(viii) 57 +9
Quotient=6

(ix) 121 =11
Quotient=11

(x) 92+ 8
Quotient=11

Remainder =1

Remainder=0

Remainder =1

Remainder =2

Remainder=0

Remainder =1

Remainder=0

Remainder =3

Remainder=0

Remainder =4

(xi) 78 7
Quotient= 11

(xii) 263 =2
Quotient = 131

(xiii) 126 + 5
Quotient =25

(xiv) 31+7
Quotient=4

(xv) 964 =3
Quotient = 321

(xvi) 73+ 4
Quotient=18

(xvii) 123+ 6
Quotient =20

(xviii) 68 +8
Quotient=8

(xix) 97 =5
Quotient=19

(xx) 845 +2
Quotient =422

Remainder =1

Remainder =1

Remainder =1

Remainder =3

Remainder =1

Remainder =1

Remainder =3

Remainder =4

Remainder =2

Remainder =1



